S gk £ 108 2 B AR I R E WA

|
|

ol EMEEeR mEH Fa—Ma) £2F %[7|

B2 h BEE La(—E&E)

#8: HEREE
AFERERGTESR

—_

(25 43) fEvEsE (B/INES 9 F£2553)
@ DSSS (Direct Sequence Spread Spectrum )
(b) PCM (Pulse-Code Modulation)

(©) VLAN (Virtual Local Area Network)
(d) DMZ (Demilitarized Zone)
(e) CDN (Content Delivery Network)

(10 43) 7F Relational Database # » 45— Table F& EEE&H—WEF
Primary Key * 1E8F 251555 T % {# FJ auto increment B¢ UUID E{F primary
key ° 555 SRR BAIEMI{E 7734 % primary key HYfEGRES -

(3 4>) SHE5EEREA{EE SQL Injection?

(12 43) F#EEEEREE ={EH# SQL Injection FYJ57%

(5 4%) When should “downcast” be used? And why it may cause run-time
exception if not used properly?

Q0 43) 5 Java B, Cr+iEmEMHEEESEP—E  URASFAEY
ek i R2 B (S (reuse) A4S M SRR S TR SS T~ IR =
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7. (8 47) Consider the following snapshot of a system:

Allocation Max Available
ABCD ABCD ABCD
PO 2001 4212 3321
P1 3121 5252
P2 2103 2316
P3 1312 1424
P4 1432 3665

Answer the following questions using the banker’ s algorithm:

(a) If arequest form process P1 arrives for (1, 1, 0, 0), can the request be granted
immediately? Why?

(b)  If arequest form process P4 arrives for (0, 0, 2, 0), can the request be granted
immediately? Why?

8. (8 43) In a paging system, suppose that the hit ratio is 90% and it takes 10 ns to
search the TLB and 100 ns to access memory.
(a) What is the effective memory access time with single-level page table?
(b) What is the effective memory access time with two-level page table?

9. (4 47) Consider a byte oriented logical address space of 8 pages of 1024 bytes each,
mapped onto a physical memory of 32 frames. _
(a) How many bits are there in the logical address? (b) How many bits are there in the
physical address?

10. (5 4¥) Consider the two-dimensional array  “A[100][100]" . If a paged memory e
system with pages of size 200, for two page frames, how many page faults are - oy |
generated by the following array-initialization loops, using LRU replacement? )

(a) for(inti=0; 1< 100; 1++) bokela |
{ for(int j=0;j< 100; j++) "
{ ALl =0}

) =g
®) for(int = 0 ; j < 100; j++) 7
{ for(inti=0;1<100;i++) =
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